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F) 8 HEE (JB) 1 JEBE (Bhr FH)
B X 4 & % o B AR
| EEHEE AR £ E| 1,834,612] 1 & [l 3,674 OBBRAHE 1, 764, 452
& B & | 1,750,245 | 2 %4 B 789,832 | 2.5k 209A% 789, 832
H 8 84,367 | 3 BREFUZE| 689,554 | IMEFUL 688, 726
KEED 4 # B B 285,894 | 4.ixE 285, 894
BHEPIER 8 i % 1,698 | OHREERE X 10, 192
EEXHE IR BB 150 | 1. $REM 2,954
A & WE A & 31,714 | 3.BEFuE 828
Z 0 9,697 |11 1% ¥ # 4,857 | 8.f%& 206
— AR EAIR 1,824,915 12 & 3t ¥ 1,515 | 10. EFZE 2,342
13 AR R 11,019 WL E 2,342
g &F ® 13. FERAB R OEER 3, 862
17 fEREBEAE 2, 547 EE R 1,407
18 &iH&HBY 12,158 ERAEFERR 98
RO & BELE LR 2,357
O HEXE 32, 382
1. SR 720
8. k& 862
9. R 150
10. EFE 17, 850
WL E 17, 850
11. B 2,423
FH0R 2,411
EHRIERE 10
1Rkt 2
12. 368 1,515
B REZ I EROR 1,515
13. FERB R OEER 400
HRERERR 400
18. BHERHB R R & 8,462
=iz 7,862
KR STEERIGETHME A EE 3, 744
TEBF R ERIGEMME A EE 902
2EHEFESEHES 212
2EEFESERITAES 27
TIBEESRARAES 130
KRB EREESAES 22
HEBFE U wo&&HSE 677
2EHEFHEEES 86
THEMREEEF LV —HaAaES 5
TR SR EHEEFERESEES
35
RKIREFGSEAY 2 T & —EfER TGRS
=iz 1,987
ZBEREAEIRERSAES 26
HoELEEES 9
fHBh& 600
EF LR R R B EEEE /S 350
B B B EVSBIR & 250
OHMEHRHBIRER 2,475
17. fEmEAE 2,475
BERYAR 2,475
OEMmPaEE 21, 862
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(Fr) 8 JHBsE (JB) 1 JEBE (B FM)
Hfi
H X % il B B
1 #1wEiEkE 8. iR& 598
= 0. EHE 8,433
TR 8,356
EIRISAZ 77
11. %%% 2,349
FHER 2,020
1Rkt 329
13. FERAB R OEER 6,727
AEDfE LR 6,727
17. femEAE 72
fEmEAE 72
18. BHERHB R R & 3,683
&iHE 3,683
BEHMEHEaHEES 3,523
FHEHE AT A3y ha—IUEES
=Eikry 140
HoBmEaES 20
OB EFRMERERX 2,754
10. RS 2,754
== 2, 754
OHEMFIHEX 495
8. k& 32
10. RS 335
HRERE 335
11. %%% 85
FHER 85
13. FERB R OEER 30
VA= MEFRE 30
18. BHERHB R R & 13
EHE 13
HEoEEEEES 13
2 REEE A £ B 72,283 | 1 i 32,731 |OHFHERSE % 72, 283
B5 Elg F & 71,399 | 5 SSEREE 232 | 1. 3RAN 32,731
H 5 884 | 7T R H B 12,155 | 5. s$EMmEE 232
REED 8 Ik & T T.%(E& 12, 155
AR MIER I B OB 100 | 8./RE 7
EEXHE 0WE B & 2,233 | 9.%KE 100
5 (& 1% % & 22| 10.EHE 2,233
z 0 12,636 12 & 3 % 731 Ep=A 2,233
— R B4R 59, 647 (13 AR RV 164 | 11. &2 22
& & R FHE} 22
17 ERmEAR 2,720 | 12. Z3Eht 731
18 AEEWE 21,188 i AR A 731
RO & 13. (AR R O R 164
&k 40
23515 LR 124
17. {2 2,720
Bk 2,720
18. BHERHB R R & 21,188
=Eiky 12, 857
KIBEES A AaES 249
TR EmLEER S AES 90
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F) 8 HEE (JB) 1 JEBE (Bhr FH)
B X 5 | & # & B B
2 IEEEHE EHESEAKE S EMESREBEESHS
B B 12, 039
FIBETE RV TR A S BRI ER

X AREEEHES 200
BRI R 32
HoEEEEES 247

RfT& 8,331

TIETHIESEEE EER & 8,331

3 MBsER A O 297,575 | 8 #i % 1 |OHRATESR B REE 85, 219
& B OE E 225,269 [10 & FH #& 56,993 | 10. B 56,993
H 8 72,306 |11 & ¥ & 5,095 WL E 200
KEED 2% & H 126, 032 PR 2 14, 791
AR MAIER 13 FRABERY 563 Sk E 19,270
EEXHE 17,113 g & ® 1ERER 22,732
# 4 & 13,600 |14 THFEEZ 750 | 11. 572 5,070
z 0 416 |17 fBREBAE 40,000 BEEmRE 4,753
— AR EAIR 266,446 18 & iE &M 65, 769 FH0R 57
RO & (R B 260
26 N # OB 2,302 | 12. B3R 8,794
BERAERK LIEMRTEEERTR 898
LR EETON 197
A EREEY TR 1,690
MBS It e 1,672
AIEHAET SRR 1,357

ZKFERT SRR 165

EESEE R Rt e 165

T— BB R SRR 66

ERFIERR SRR 200

HESEsY Y v —F5RETH 303

L RS oy o 1,807
K[EBHEEMEERTR 154

BENZEER 120

13. FERB R OEER 563

BEHERE LR 202

MEE% 3 AR 251

F L YRk 110

14, THFEEB 750

WEREAF T 750

18. BHERHB R R & 10, 780

=iz 10, 780

KEEARAETIEAES 10, 780

26. NI 2,269

OEKHNEMEHEE 40, 107

8. k& 49

1. B 25

FHER 17

1Rkt 8

17. R 40, 000

RFEREEEE 40, 000

26. NI 33

O#RES VL2 —F% 54, 989

18. BHHEHHE R R T & 54,989
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(F) 8 HbE (U8) 1 iEpE (B FH)

B X 4 & % o B AR
3 I4B5HERR &S 54, 989
= RIFHEGREER - Ba V2 —EER
HaaES 54, 989
OHMTEBEESE 117, 260
8. k& 22
12. Z368 117,238
T HIEE - MO ERATHEEREARE
MEsREt &R 96, 448
T HIERGE - MO EFHETEEE LT K
EEELEIRER 20,790
4K 5 B A & E 746 (10 B A B 212 |OKRFE%E 746
B OE E 698 12 & 3 ¥ 534 | 10. EFE 212
H 8 48 W 176
REED BEE 36
AR MIER 12. &5 534
EEXHSE FIRIERR SR B =R 450
oA & BENZEER 84
Z D
—AREA IR 746
& F A FE OE| 22057216
B O | 2,047,611
H 8 157, 605
REED
AR MIER
EEXHSE 17,113
# A & 13, 600
z 0 22,749
— AR EAIR 2,151, 754
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